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Note:

(i) All the four questions are compulsory'

(ii) All questions carry equal weightage.

l. Answer the following question in about 600 words'

Discuss objectives of teaching Environmental Studies at

Primary stage under cognitive, psychomotor and affective

domains.

OR

Mention components of natura.l and man-made

environment. Explain briefly the outcomes of interaction

between them.
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2. Answer the following question in about 600 words.

What are deficiency diseases ? How are deficiency diseases
distinguished from communicable diseases ?

OR

What is meant by adaptation ? Discuss adaptation features
acquired by a fish, camel and cacfus plant.

3. Answer any four o{ the following questions in about
150 words each :

(i) Explain basic features of Minimum l-evels of Learning
(MLLs).

How will you separate salt from a mixfure of sand ?
Explain with the help of an activity.

How is acid rain caused ? How does it harm us ?

Explain water a1cle.

Discuss causes of population explosion.

Describe National Emblem and meaning
features.

Answer the following question in about 600 rarords.

What is summative ernluation ? Develop a tool having
multiple choice items to evaluate learners' progress in any
topic ol your choice.

(ir)

(iii)

(iv)

(v)

(vi) of its
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